Z2&— 1B 6% 10% 15%
KIS £ ANHE ED HHE FE PRl B
FTAOAR=NT4>
7:45| INTLOOP¥R =%t [INTLOOP¥ =%t [BIPROGYHRA ST | Ak AT
LB & BN ERK yLI)E 5K fall B3
Jo-)NLetaUs4I+ Jo-)NLetaUs4I+
7:53| kNS fE S AT AN-MER &4t BIPROGYMRIN &L | /(- M et
EKR IR H UMD |1l #A8 (EN] T tirgd
K= 77/0)0 W=7/ 0)
8:01| kXt ATH |[Fy— BIPROGYMKI =1t | Fv—
= #k =E WA HEFE BEF MNE I
BBRGGISHSIN |MITR=ILT4>9R [MITAR=-ILT1IR
8:09| kXL ATF  |&ft K=t K=t
ANy vt BH =N LI ¥5% =E 7
BHERGGISHM [MRRatt>—377/ [JO0-RRA1ORGR |[J0—-RYA> MR
8:17| =%t O>—-X =1t =1t
FE = & =R A AE BliZE th3E
KRSt A-—TI\D RS —577) |T49AR=IT1>7 |IBEREMBEFEER
8:25| O>—-X ARt =1t
Ht Inf e = iRH B3 SERE IR
KNS —-IXT |[HRXESEI-ILRAN
8:33| INTLOOP#N&#t |15 —33> =t KRS TI I L
hEF BRI fHiE BPRF /N T BE B58
KXett VINII7 |[EEEALEIRG
8: 41| KRN ESHETAIR H—-EX = S—-J-%Aatt
= i BT MERD ME FEH INg FIL
B SEAT1ADY KEAEFBEKRTS |SDFFrESILERT
8:49|9X I =%1SB =1t =1t
=E EMX IV N S S BA HRH A T
TAIRR=NT4>)
8:57| INTLOOPMIAN =1t | Ak att INTLOOPHR =%t |INTLOOPHKR =%t




